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THEXy « T - FER - 5 Mo % LFENAL B G EHAm & T2 (BB
BV
= 1 146, 252, 879
HE o BT
= 1 122, 131, 822
ESf
= 1 122, 131, 822
1 MBS R (A) IR ¢ 1400 YEARL=11. 4m
HIFLEEL=14. 5m
VN 27 445, 158 12,019, 266
R R B EE (B) TERZSATR ¢ 1400 1 ARL=9. 4m
HIFLEEL=14. 5m
%N 18 360, 622 6,491, 196
TR EME SRR (C) IEZERIR ¢ 1400 7 ARL=11. 9m
HIFLEEL=14. Om
VN 132 389, 386 51, 398, 952
TR R R (D) IR ¢ 1400 1 AFL=10. 9m
HIFLEEL=14. Om
VN 87 365, 894 31, 832, 778
TR RSB (B) TERZSATR ¢ 1400 1 AJRL=8. 9m
HIFLEEL=14. Om
VN 58 347, 580 20, 159, 640
FEIA (b-27) +# +£50, 000m3 A 100m3
= 1 21, 250
o Hb S E T CEB- ERiRY Late) 100m3
= 1 197, 100
B s AT o ALEL 100m3
= 1 11, 640
G an
= 1 24,121, 057
(ES e N
= 1 65, 970
IR HNIE T
= 1 23, 908, 903
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HoOflf =%

THEXy « T - FER - 5 Mo % FREAL K B G EHAm & M| TE (B ESM)
Fe AL T
= 1 146, 184
B TR
= 1 146, 252, 879
I L
= 1 16, 315, 307
IR
= 1 4,103, 731
TR
= 1 996, 685
IR TR 120. 3t
= 1 996, 685
et By
= 1 6, 751
A m b R B
= 1 6, 751
BIGREsET (K3
= 1 3, 100, 295
MR E (FEH L)
= 1 12,211, 576
Wi
= 1 162, 568, 186
B
= 1 42,671, 611
T AT
= 1 205, 239, 797
— R
= 1 31, 620, 203
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HoOflf =%

THEXy « T - FER - 5 Mo % FREAL K B G EHAm & M| TE (B ESM)
TS
= 1 236, 860, 000
THEBLF Y %H
= 1 23, 686, 000
TH#EG
= 1 260, 546, 000
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